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General Instructions to the Candidate :

1. This question paper consists of 38 questions.
2. Follow the instructions given against the questions.
3. Figures in the right hand margin indicate maximum marks for the questions.

4. The maximum time to answer the paper is given at the top of the question paper.

It includes 15 minutes for reading the question paper.
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2

I. Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer and write the complete answer

along with its letter of alphabet. 8x1=8

1. The Ryothwari system was implemented by
(A) Alexander Reed
(B) Cornwallis
(C) James Thomson
(D) R.M. Bird

2. The main objective for appointing Hunter Commission is
(A) to enquire into the Chauri-Chaura incident
(B) to enquire into the Jallianwala Bagh tragedy
(C) to mark the boundaries of India and Pakistan
(D)  to give dominion status to India

3. Petroleum is called liquid gold because it is
(A) multi-used power resource
(B) highly exported
(C) most adulterated resource

(D) used in peace and war period



The father of Public Administration is
(A) F.M. Marks (B) Luther Gullick
(C) Woodrow Wilson (D) Piffner

The article of our constitution that prohibits the practice of untouchability

is

(A) 14 (B) 17

(€) 24 (D) 29

Prohibition of Prenatal Gender Determination Act was enacted in the year
(A) 1992 (B) 1993

(C) 1986 (D) 1994

The solution taken by the Government of India to solve drought in 1965-66

was

(A) introduction of high yielding variety seeds of wheat

(B) announcement of subsidy for farmers

(C) introduction of supporting prices for paddy

(D) formation of NITI Ayaog

[ Turn over



II.

8.

Answer the following questions in a sentence each :

10.

11.

12.

13.

14.

15.

16.

Yashas bought Dosa from Swiggy. The type of marketing system he used is

(A) Wholesale (B) Import

(C) Teleshopping (D) Export

8x1=8

Why did the British shift Chennamma to Kusugal prison from

Bylahongala ?

What was the main objective of the Charter Acts ?

Why should we grow Mangrove forests along the coasts ?

What is the objective of the National Power Grid ?

What is recruitment ?

Dowry is the cause for gender discrimination. Justify.

Public expenditure is increasing nowadays. Why ?

Why were District Industrial Centres established ?



III.

Answer the following questions in two to four sentences / points each :

17.

18.

19.

20.

21.

22.

23.

8x2=16

How was Goa liberated from the Portuguese ?

What were the features of Fascism ?

List out the raw materials used in the Paper industries.

The Southwest Monsoon wind starts receding from October. Why ?

Self-help groups are playing a vital role in rural areas. How ?

Mention the objectives of the Consumer Protection Act.

UPSC plays a great role in the system of public administration. justify.

OR

India is committed to the policy of no first use of Atomic ammunition.

Justify.
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IV.

24. Explain briefly about the Chipko movement.
OR

Explain briefly the causes for child marriage.
Answer the following questions in six sentences / points each: 9 x 3 =27
25. Mention the reforms of the Satyashodhak Samaj.
26. What were the effects of the Battle of Buxar ?
27. The Government of India is struggling hard to eradicate illiteracy. Justify.
28. What are the problems faced by the unorganised sector workers ?
29. Name the Eastern Coastal ports of India.
30. Explain the conditions of subsidiary alliance.

OR

Explain the achievements of Krishnaraja Wodeyar IV.



31. How can we prevent soil erosion ?

OR

How is agriculture playing an important role in the economic development

of India ?

32. How is the Government striving hard to develop Indian Agriculture.

OR

How are direct taxes different from indirect taxes ?

33. What are the advantages of opening a bank account ?

OR

What are the characteristics of an entrepreneur ?

V. Answer the following questions in about eight sentences / points each :

4x4=16

34. The role of Subhash Chandra Bose is an important milestone in the Indian

Freedom struggle. Justify.

35. Explain the importance of forest.
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VI.

36. Explain the structure and functions of the Security Council of UNO.

37. Explain the effects of the British education on Indians.

OR

Explain the effects of the first war of Indian Independence.

38. In the outline map of India provided to you mark any five among the

following : 1x5=5
a) 82°30' East longitude

b) Indira Point

C) Bhakra Nangal

d) Lathur

e) Kanyakumari

f) Our North-West neighbouring country

g) Tea Port of India

Alternative Question for Visually impaired Candidates only :

( In lieu of Q. No. 38 ) S5

Explain how the Himalayan mountains are helpful for Indians.




